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Now, complete the calculations and write answer in the boxes.[image: ] [image: ][image: ]Rel
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Complete the statements using the symbols <, > or =.
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a) 22x3 2554

b) 43x2
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What could the value of the missing digits be? Find two possible solutions.
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On average, a shallower bath uses 723 litres of water, whereas a deeper bath uses 807 litres of water.

In one year, how much more water would always taking a deep bath use than always taking a shallow bath, if
someone had 3 baths a week?

Show your working out.





